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(5a) [Renshuba.pas] 00000000 dataltxt 0000000000
program Renshuba( input, output, filel );

var filel: text;

c: char;
begin
assign( filel, ’datal.txt’ ); {00000 file1OOOOODO 3}
reset( filel ); { file1OOOOOOOOOOQOO }
while not eof( filel ) do begin { file1 OODO0O (eof) OO OODO 3}

while not eoln( filel ) do begin { file1OOOODODO (eoln) OO }
read( filel, c ); { file1 OO 100000000 cOOOOO 3}

write( ¢ ) {cO000000O0O0O ¥
end;
readln( filel ); { file1O0OOOOOOOOODOO %
writeln() {0000000 3
end;
close( filel ) { file1ODOODO }

end.

00000000 dataltxtO0 OO
0.1 1.25
0.2 1.38
0.3 1.61
0.4 1.75
0.5 2.01

(5b) [Renshubb.pas] 0000000000000 OO0O0OO00OOO0OO0OOO0O0OO data2txt0 0000
program Renshu5b( input, output, file2 );
var file2: text;
x: real;

n, i: integer;

begin

assign( file2, ’data2.txt’ ); { 0O OO0 file2OODODOOO }

rewrite( file2 ); { file2O0O0OOOOOOOO }

n := 100;

for i := 1 to n do begin
x :=1i % 0.1; {00000 3}
writeln( file2, x ); {x000 file2OODOOO }
writeln( x ) {x000D0O000 ¥

end;

close( file2 ) { file2O0OODO %

end.



(5¢)

(5d)

[Renshubc.pas) 00 0000000000000 O0O0O0O0OO0OO0OOO data3.txt 00000
program Renshubc( input, output, file3 );
var file3: text;

n: integer;

begin
assign( file3, ’data3.txt’ ); { 00000 file300ODOOOO }
rewrite( file3 ); { file3O0OOOOOOOOO }
repeat
read( n ); {00000001000000000nO0DOO0OO 3
writeln( file3, n ) {n000 file3OOODODO }
until (n = -1 ); {n000-1000000D0O00DODO ¥
close( file3 ) { file3O0DOODO }
end.

[Renshubd.pas) 00000000 datadtxt 00 000000000000 D0 200000000000000
000000000000 databtxt 0O O0O0OOOOODOOO
program Renshu5d( input, output, filel, file2 );
var filel, file2: text;
X, y: real;
begin
assign( filel, ’data4.txt’ ); { 00000 file1 OODDOOO }
reset( filel ); { filelODOOOOOOOOODO 3}
assign( file2, ’datab.txt’ ); { OOODO0O file2ODOOODOO }
rewrite( file2 ); { file2OOOOOOOOODO }
while not eof( filel ) do begin { file1OOOO (eof) JODODOO 3}
readln( filel, x, y );
{ file1OOOODOOOO 20000000000 x0y0ODDOOO %}

writeln( file2, x, > 7, y ); {xO0yODOO file2OOODOOOOQODO %}
writeln( x, ’ °, y ); {x0DyOOOOOODOOOOO 3}
end;

close( filel ); { file1OODODO }
close( file2 ) { file2O00O0O0O %

end.

OO0000000 datad.txt DO O datal.txt DO 00O

[Renshube.pas) 00000000 data6txt 000000000000 00O0 100000000000000O
oooooo0oobooo0oooooOoooooOoooooOoo
program Renshube( input, output, file3 );
var file3: text;
a: array [1..100] of real; { O0O0O0O0OODOOOOODOODOOOO 3
b: real;

ndata, i: integer;

begin
assign( file3, ’data6.txt’ ); { OOODO0O file3aODOODOO }
reset( file3 ); { file3OOOOOOOOOODO }

{ file3 00 O0OODOOCOOO 3}

i = 0;



while not eof( file3 ) do begin { file30ODODODO (eof)OOOODO }
i:=i+1; {00000 =0000000O00OC0O0O 3
readln( file3, ali] )
{ file300OO0D0OOO0D0 10000000000 alilJOODOOO ¥
end;
ndata := i; {000 i00 = 0000000 ndataOODO 3}
writeln( > 0000000, ndata );

{00000 3

b := 0;

for i := 1 to ndata do b := b + a[il;
writeln( > 000000, b);

close( file3 ) { file300O00O0O }

end.

O0000D000 data6.txt D0 DO datal.txt D000

(5f) [Renshubf.pas] 00 O00D0000 random 0000 (1): DO0OO0O0OOOO
program Renshubf ( input, output );
var r: real;

n, i: integer;

begin
n :=100; { OO0O0OOOOOO
Randomize;
for i := 1 to n do begin

r := random; {r0dogoovuco,1)00000 }
writeln( r )
end

end.

(5¢) [Renshubg.pas] 00000000 random OO00 (2): 0000000
program Renshubg( input, output );
var n, £, k, i: integer;

{mO000000D0 :100m00000D0O0OOOOOOZ%
function dice( m: integer ): integer;
begin dice := round( random * m + 0.5 ) end;
{ dice := trunc( random * m ) + 1 0JOOOOOO }

begin
f :=6; {00000000 =0O000000O000 3
n :=100; { OO0O0OOOOOO

Randomize;
for i := 1 to n do begin
k := dice( f ); {k := round( random * £ + 0.5 ) OOOOOOO }
writeln( k )
end
end.



(5h) [Renshubh.pas] 00000000 random 0000 (3): DOO0O0O0O (Box-Muller 00O DO)
program Renshubh( input, output );

var x, mu, sigma: real; n, i: integer;

{ Normal RANDom number generated by Box-Muller scheme }
function nrand: real;
var t, u: real;
begin
t

sqrt( -2 * 1n( 1.0-random ) );

2 * PI * random;

u
nrand := t * cos( u )

end; { end of definition of nrand }

begin
mu := 33; {00000 3}
sigma :=3; { 0000000 %
n := 100; {00000000g 3
Randomize;
for i := 1 to n do begin
X := sigma * nrand + mu; {x00000 N(mu,sqr(sigma)) 00000 3
writeln( x )
end
end.

(51) [Renshubi.pas) 00000000 random 0000 (4): OOOO0OOO
program Renshubi( input, output );
var p, r: real;
m, n, ¢, i, j: integer;
begin
p :=0.25; { 0000 @OOOOOOOOMDO ¥
m :=100; {00 (@O)OOOd }
1000; { 1000O0O0OODOOOOODO ¥
Randomize;
for j := 1 tomdo begin { OO (ODO) }
c:=0; {00000COO0O }
for i := 1 ton do begin { OO }
r :=random; { rO00000UC,)O00000 ¥
if (r<p)thenc:=c+ 1 {r<p000000p ->000000 %
end;
writeln( c ) {cO00000 BG,pyOO0OOO }

end

n :

end.



